Equivalent Annual Annuity (EAA)

The Model:  The EAA method is an alternative to the Replacement Chain method, for use in evaluating projects with unequal lives.  The EAA model derives a dollar value of the project that represents the same financial value of the NPV, except that the dollar value of the EAA is for payments or benefits that are equally spread over the life of the project (an annuity).  The annual annuity can be compared between projects, and the project with the highest annuity should be chosen over lower annuity.  

The Methodology:  Using the same equation as the "auto loan" payment equation, where PVa=Net Present Value of the project, k=discount rate, n=no of years, calculate PMT.  
In Excel, the formula could be =(B2*B7)/(1-((1+B2)^-5)), where B2=.17 & B7=120.
PMT is the benefit from the project (the EAA), spread out over the life of the project. 
	
	
	
	
	
	
	
	

	Discount Rate 
	0.17
	
	
	
	
	
	

	1.  year
	0
	1
	2
	3
	4
	5
	

	cashflow$000
	-120
	40
	60
	80
	100
	130
	

	discnt factor
	1.0000
	0.8547
	0.7305
	0.6244
	0.5337
	0.4561
	

	pres value
	-120.000 
	34.188 
	43.831 
	49.950 
	53.365 
	59.294 
	

	NPV ($000)
	120.628 
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	5.   EAA=
	(k*Pva)/((1-(1+k)^-n)) =
	37.704 
	
	
	

	
	
	
	
	
	
	
	

	
	0.000 
	37.704
	37.704
	37.704
	37.704
	37.704
	

	discnt factor
	1.0000
	0.8547
	0.7305
	0.6244
	0.5337
	0.4561
	

	pres value
	0.000 
	32.226 
	27.543 
	23.541 
	20.121 
	17.197 
	

	NPV ($000)
	120.628 
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	


